DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO

TBC : 18/17/ET Booklet Sr. No.

Roll No.

180260

TOURISM ADMINISTRATION AND MANAGEMENT
PAPER II

Time Allowed : 1% Hours] [Maximum Marks : 100

RNe O

Instruction for the Candidates

Write your Roll Number in the space provided on the top of this page. Do not write anything else

on the Test Booklet except in the space provided for rough work.

This paper consists of fifty (50) multiple-choice type of questions. All questions carry equal marks.

At the commencement of the examination, the question booklet will be given to you. In the first 5

minutes, you are requested to open the booklet and zompulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper seal on the edge of this
cover page. Do not accept a booklet without sticker-seal and do not accept an
open booklet.

(i) Tally the number of pages and number of questions in the booklet with the
information printed on the cover page. Faulty booklets due to pages/questions |
missing or duplicate or not in serial order or any other discrepancy should be got
replaced immediately by a correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet will be replaced nor any
extra time will be given,

Each item has four alternatives response marked (A), (B), (C) and (D). You have to darken the

circle as indicated below on the correct response against each item completely with Blue/Black

ball point pen as shown below. H.B. Pencil should not be used in blackening the circle to indicate
responses on the answer sheet.

Example: . @ ‘ @ @ Where (B) is correct response.

Your responses to the each item are to be indicated in the OMR Sheet provided to you only. If you
mark your response at any place other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough work is to be done in the end of this booklet.

If you' write your Name, Roll Number, Phone Number or put any mark on any part of
the OMR Sheet, except for the space allotted for the relevant entries, which may disclosed
your identity, or use abusive language or employ any other unfair means, such as change
of response by scratching or using white fluid, you will render yourself liable to
disqualification.

You have to return the original OMR Sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the Examination Hall. You are however.
allowed to carry original question booklet and duplicate copy of OMR Sheet on conclusion of
examination. .

Use of any calculator or log table etc,, is prohibited.

There are no negative marks for incorrect answers.

In case of any discrepancy found in the English and Hindi Versions, the English Version will be
treated as final.

CARRYING AND USE OF ELECTRONICS/COMMUNICATION DEVICES IN
EXAMINATION HALL ARE NOT ALLOWED.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO

1 P.T.0.



TOURISM ADMINISTRATION AND MANAGEMENT

Time Allowed : 1% Hours]

Note :— This paper contains fifty (50) multiple choice questions, each question carries
two (2) marks. Attempt All of them.

For sustainable tourism it is essential to :

Provide sufficient and cheap accommodation.

Pay better fee to the local escorts and guides

; B

T.BC..:

(A)
(B)
(C)
(D)

Extend medical care to the tourists

Paper 11

[Maximum Marks : 100

Plan carefully designed for the environment and resources of the locale,
provides direct economic benefits and is sourced locally can make a
significant contribution to sustainable development.

Match the following and select correct answer from the codes given below :

Type of Hotel

() Boutique Hotel

(i)

(2ir)

(iv)

M 6tel

Casino Hotel

Franchise hotel

Codes :

(A)
(B)
(C)
()

()
(@)
(b)
(a)
(d)

(i2)
(b)
(e)
(d)
(a)

18/17/ET—II

(i11)
(e)
(d)
(b)
(®)

(a)

(b)

(e)

(d)

(iv)
(d)
(@)
(c)

B3

Description
Hotels which are smaller and offer
well designed rooms, sometimes
along a certain theme.
Hotel which provide casino
facility along with accommodation.
One brand allows the another
brand to use its logo, name. sys-
tems, and resources in exchange
of fee. .
Hotels in locations with
convenient access to main roads,
high ways, attractions or shopping
malls.
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THeT WIMET TS WaH
Te-u 11

: 17 T [t @ 100
— 39 YE-7 § 50 (U=W) dgfowed wA ¥ | UEE YR B 2 () I #
% T ® SW e |
i v & fou a8 smovas & % .
(A) e iR It SE IUEs HU ,
(B) T Resh! IR Arfeyi®l # deR JYEF <
(C) wHewi =1 fafeew s@we &1 famr &t
(D) FSH WEUEYEE Y 3R e % GEEE @ fae §hE S Sy
e o WS H AR T WEAl & 9 H Haq faw & fag e meeye
ARHE ] TH |
e foem #E ok 9 Ry #1 # 9 9@ W & gAE F+K
AWSA & YHR faeror
() FIF 2eA (Boutique Hotel) (o) T@ St 812 2R =8 @& @
TSMY L FW 2 8, FW-FH 59
T fawa & |y
(i) wrEa (Motel) (b) TS S WA F WI-WY JN G
%! Sqerea off @ %
(iii) HfgA1 @@ (Casino Hotel) ¢ T ¥ (AR &1 fog) T 7
F o1 fag, ™, wurel iR Wiy
GUIHA & 95l § SUART T Hi A
@ w)
(v) ®EES €@ (Franchise Hotel) (d) 37 T W 22 &l 4 Y& 9M-T
Tt seRftia T SIR SR o ST
q 7
HE :
@ @ G )
(A) @ B @ (@
B B @ @ (@

©) @ @ B (o
D @ @ & ()

T.B.C. : 18/17/ET—II 3 B.T.0.



Which of the following International Hotels chain is not based in U.S.A. ?
(A) Intercontinental Hotels Group (B) Marriott Internationl
(C) Carlson Hospitality Worldwide (D) Hyatt International

‘The rate at which a hotel sells its rooms when no discount of any kind are

offered to the guest.” Which type of rate is it ?
(A) Hurdle Rate (B) Rack rate
(C) Corporate Rate (D) Package Rate

How many sites are considered heritage sites of Himachal Pradesh ? Select

your answer from the codes given below :

(f) Arki Fort and Palace (zz1) Bhimakali Temple
(iti) Jubbal Palace (iv) Kalka-Shimla Railway
Codes : |

A4 @ @

B) @ (v

©) @) @ @)

M @ @ @ G

T.B.C. : 18/17/ET—II 4



3. frefafes § @ =9 4@t wieE e g@en USA. § 78 §?2
(A) IHIEA=< B2ed U (Intercontinental Hotels Group)
(B) WRIARE $evE@ (Marriott International)
(C) weEA Eferefadt awgarns (Carlson Hospitality Worldwide)
(D) 79 $eva (Hyatt International)

4. X 99 W AT I FHH FH AEHEI F S=ar &, T W HE W B oS TR
& o Bl 9% Y TER @ W §?

(A) =¥ g (Hurdle Rate) (B) &= T (Rack rate)
(C) §mifs® 8T (Corporate Rate) (D) T&Hd T (Package Rate)

5. e e feee WY #1 fGUEd e w9 Wt €2 9 Re T we | SW O

(@) o fHen iR wea (i) fweTe HiRT
(i) To9d Hed (iv) wrere Rmen W
. |

@ @ @

(B) @) ()
©) @) @ (o)
D G G G Go)
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6. Match the following and select correct answer from the codes given below :

Organization Year of
establishment

(z) TATA (@) 1966

@) PATA () 1945

(Fiz) UNWTO () 1951

(fv) UFTAA (d) 1975

Codes :

@ @ @ ()
A @ & @@ (@
B) © @ @@ ®)
<€ & @@ @ @
D) &) @ (@ ©
{7 Amtrak was formed in the year :
(A) 1978 (B) 1971
(C) 1975 (D) 1960

8. As per the National Tourism Awards 2015-16, which railway station has been

conferred with the award of Tourist friendly railway station :
(A) New Delhi (B) Varanasi

(C) Jaipur (D) Ujjain

T.B.C. : 18/17/ET—II B



6. T =1 fyam =1 3R 2 RE 7T =g 7 ¥ w& W g

| TOAT A
@) IATA (@ 1966
(i) PATA (b) 1945
(i) UNWTO (€) 1951
(iv) UFTAA (d) 1975

®E :
@ @) G G
A @ ®& @© @
B) © @ @ ®
© & @© @ (@
M @) @ (@ (e
7.  WHSH (Amtrak) g o § wAE W ot ?
(A) 1978 (B) 1971
(©) 1975 (D) 1960

8. 201516 & U YA YGSHR & ER fow Wd €T & wHew S @e
©yF & R § gt fm m §2

(A) 8 e (B) SRRt

(C) AR (D) S5
T.B.C. : 18/17/ET—II 7 P.T.O.



9. Mausoleum of Mulla Shakrullah Shirazi (entitled Afzal Khan Allmi) is one

of the masterpieces of glazed tiles decoration. It is situated at :
(A) Delhi (B) Lahore
. (C) Agra (D) Srinagar

10.  Which one from the following is known as the top most marketing destination

for medical tourism in India ?

(A) All India Institute of Medical Sciences
(B) Indraprastha Apollo Hospital

(C) Safdarjung Hospital

(D) Sir Ganga Ram Hospital

11. A Central Tourism Advisory Committee in India was constituted in the

year :
(A) 1960 (B) 1940
(C) 1950 (D) 2000

12. The meeting of World Heritage Committee 2017 was held in July, 2017 at :
(A) Krakow, Poland (B) Jeddah, UAE

(C) Seoul, South Korea (D) Tehran, Iran

T.B.C. : 18/17/ET—II : 8



9. ol YEheee RIS (FHeR SRS @ 3TeeTHl) 1 Hehall IHeEdaT g3l 25e qaEe
H IF% Ffadl A ¥ TH ¥ 98 foug ¥ ¢

(A) feoeit ® (B) @R #®
(C) =mrm # D) 4R H

10. frefafas § @ /1 e ¥ fafee e & fau w98 s s=afie o & w9

T S S §2 |
B) st e Tdege s Aewd wEa
(B) TIUY AUICH SFEdT
(C) |HEIST IFTIarel
(D) T WM TH A
11 Mﬁﬁmqﬁamvﬁﬁmﬁmaﬁﬂizﬂ?
(A) 1960 (B) 1940
(C) 1950 (D) 2000
12. 2017 # =el W fava fouga wfufa =t 9% S 2017 § oo ot 78 & 2
(A) wHE, deie (B) ST®, J.TE.
(C) wteitar, WSy wIfen (D). &,

T.B.C. : 18/17/ET—II 9 ' PO,



13. Rani-Ki Vav, one of the finest example of step wells at Patan, Gujarat was

constructed by :
(A) Rani Rupmati (B) Rani Karnawati
(C) Rani Udaimati (D) Rani Dewal Rani

14. In the question given below there are two statements, one labeled as Assertion
(a¢) and the other labeled as the Reason (7).

Assertion (a) : Geotourism promotes Tourism to geosites and the conserva- -
tion of geodiversity and an understanding of earth sciences

through appreciation and learning.

Reason (r) : Geotourism is a form of natural area Tourism that specifically

focuses on geology and landsecape.
In the context of the two statements, which of the following is correct ?

(A) Both (a) and (r) are individually true and (r) is the correct explanation

of (a)

(B) Both (a) and (r) are individually true, but (r) is not the correct expla-

nation of (a)
(C) (a) is true, but (r) is false
(D) (a) is false but (r) is trué.
15. The air pollutant known as “secondary” in nature is :
(A) Sulphur dioxide (B) Ammonia

(C) Peroxyacetyl nitrate (D) Methane

T.B.C. : 18/17/ET—II 10



13. TH-®1-919 (Rani-ki-Vav) 2, ToRd # %A %3l F1 Jgaid /@ T ;
(A) TE wgEE (B) T wHorfet
(C) T S<Imet (D) TA <A TH

14. = fRu 7wy § 3§ 9@ ¥, W N ANFE (@) IR TR F IR (1) F Y
# gyt mn ¥

ARTHT (o) : e, W TRl B AR AR yfafaea & A A gedifo
N T ok FreY & it v @ faw wden # wgEn 3@ §

HET (r) : Ariifersr 9o wifas &% Tfed &1 & w9 § s ffv=a &9 9
i 3R yfaeiies | o & F R

S % vl Frffen 4 @ s w2

(A) aﬁi(a)ai’mr)axan-mnﬁ%am(rméfaam%(a)m
(B) B (a) 3R () FTEm-3 TR ¥, W () T foraor 78 ¥ () W
©) (@) W& & W (r) ToW %I

(D) (o) T § W (r) T €

15, F WU SN ¥9E A WEEE ¥

(A) TR SEIFES (B) i

(C) Wt UeteEe e (D) #e
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16. In the context of Internet, identify the incorrect pair from the .following :
(A) .gov—government website (B) .com—commerical website
(C) .ac-accounting website (D) .edu—educational website
17. The first Sanskrit text based on the Budha’s life is :
(A) Gatha Saptashati (B) Karpur manjiri
(C) Buddhacharitam (D) Amgrkosha
18. The word Medhekot means :
(A) A wooden fort (B) A fort with stone bastions
(C) A hill fort | (D) A sea facing fort
19. Splash Tourism is popularly known as :
(A) Dark Tourism (B) Monsoon Tourism
(C) Heritage Tourism (D) Rural Tourism
20. The wc;rld’s first National Park, designated in 1872, was :
_(A) Yosemite ‘ (B) Yellowstone
(C) Great Smoky Mountains (D) Grand Canyon
21. The famous Atala Masjid of Jaunpur is associated with the dynasty of :
(A) Khalji (B) Tughlaq

(C) Lodhi (D) Sharqi

T.B.C. : 18/17/ET—II 12



16.

17.

18.

19.

20.

21.

Tee & g d fafafeg 3§ ¥ wom 99y &1 UgEN Hieg

(A) .gov—TgHe ‘amsz (B) .com-HAf¥ae e dEe
D) .édu-mahvﬂa EELSiEra

(C) .ac—3TwTEfem dawEe
g5 ® fNeft W svife Jeen 96Fd TS ¥ :
(A) e W (B) FHITH
(©) FgARTH (D) ST
AiFe (Medhekot) g &1 &1 ¥ : |

(A) TH oThel &1 fHan

(C) T wergt femem (D) T g5 & §WA e

Wed (Splash) W frg 7w § Il § 2

(A) N HA ' (B) HrgHl wEeA

() fora wdeq (D) 7o g
1872 # wifim fern = gfn &1 ugen USHE W o1

A) ARR (B) S

(C) T2 T HE=A (D) W HAdA
mﬁmm'mmmamq@%?
(A) @St (Khalji) - (B) gTeF (Tughlaq)

(C)- &l (Lodhi) (D) ¥ (Sharqi)

T.B.C. : 18/17/ET—II 13
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22. In the question given below there are fwo statements, one labeled as Assertion
(a) and the other labeled as the Reason (7).

Assertion (a) :The seismologist experts believe the quakes could be over 8.2
magnitude on the Richter scale, putting entire North India

at risk and massive disaster for its Tourism.

Reason (r) : The number of earthquakes that hit Sikkim (2011), Nepal (May,
2015), and Manipur (January 2016), is said to have caused
a tectonic shift, which has affected the plates in the region.
This has caused conditions from where stems the possibility

of multiple earthquakes occurring in future.
In the context of the two statements, which of the following is correct ?

(A) Both (@) and () are individually true and (r) is the correct explanation

of (a)

(B) Both (a) and (r) are individually true, but (r) is not the correct expla-

nation of (a)
(C) (a) is true, but (r) is false
(D) (a) is false but (r) is true.
23. Kosar meat is religiopsly mandatory for the followers of :
(A) Christianity (B) Judaism

(C) Islam (D) Zoroastrianism

T.B.C. : 18/17/ET—II 14



22. 2 fRw mu yvw ¥ € 99F ¥, & = ANEYA (@) 3 TR FH FRU () B I
# gl T g '

ATHIT (@) : P ¥ &1 a9 T fF T e = W 8.2 ¥ wm
A T TESA H GUE §, S R IR YRA HI SifE@q § T
TFd ¢ o 2 T W e & 29 # oug ° WAl ©

IR (1) : | mm%ﬁsﬁm(zon_),m(nﬁzmé)aﬂtm(wﬂ
2016) ® 3T Yl Ht Hew # & foadfe sgama gan ¥, e
W a9 ¥ e # wwfew fEa ®) R T oftferfrl S g
€ el wfgs # #2999 w1 wue Yer At ¥ |

3 oAl wyAl & e ¥ frafafen # § 9w @@ %2
(A)»ﬁ(a)aﬂ'{(r)w-wvﬁﬁaﬂ'{(r)@fé:w%(a)m
(B) A (@) SR (r) som-@m T ¥, W () & fawed & T (@) ®
(C) (a) W& & W (r) To T
D) (o) T T W (1) W ¥

23. FR "W @ fFE o # agEted & fau afie w9 @ eifer ® 2
() Pt (B) EEH
(C) T (D) SRR

T.B.C. : 18/17/ET—II 15 BE.O.



24. Match the following and select the correct answer from the codes given below :

Year
@ 1670
(@) 1730
(ii) 1815
(fv) 1820
Codes :

(2)
(A) (a)
B) @@
(C) (o)
(D) (d)

T.B.C. : 18/17/ET—II

(@)
(b)
(c)
(b)
(b)

(ii)
(e)
(®)
(@)
()

(@)

(&)

(e)

(d)

(iv)
(d)
(@)
(d)

(@)

Important Historical Events

Steamboat services were introduced from London
to Gravesend, one effect of this development was
the construction in all resorts of a pier to accom-

modate the vessels on their arrival.

Health experts suggested that sea water is found
to be useful to cure many diseases. The results
were that many resorts around the English coast
were established to attract visitors seeking to cure
themselves both by drinking seawater and by

immersing themselves in it.

The grand tour concept was developed especially

for educational purpose.

The European cultural centers were opened to

British travellers.

16




24, fr = fiom #ifse ok = Ry T we § ¥ w& W g

| Tgagut Ufaatae wEw
(@) 1670 (@) TaEr e B ded 9 AR J9ds 9% Uy e
T o1, 39 f9Ee w1 T g9E 91 'R W §
iy =1 fmior, = fF 9R S SENl # 39e AH W
TS O

@) 1730 ®) R fades w1 gEE % SfE s o
0 & fog gt o swErh wifaa gan &1 aRomm
7% 4 fr oSl & 9 F IE-Tw FE e i
firy T & AfF A T W g e T s e
G WY F1 AN FHA A SIGH] I SR H

T |

(i) 1815 ) foemer vy saumon favm w9 ¥ difees R @ fo
fofaa =1 8 ot

(v) 1820 @) fafen aitmt & fau g aresfos o5 @) 7T 9

e

@ @ @ @)
A @ 6 @ @
B) @ @ 6 @
© @ & @ @
D @ @ @ (@

T.B.C. : 18/17/ET—II 17 P.T.0.



25.

26.

27.

28.

When an airline company or hotel company establishes its own travel division

or agency. This is what type of Intergration ?
(A) Horizontal Integration (B) Vertical Integration
(C) Top Level Integration (D) Middle Level Integration

The cost which are incurred and conveniently identified with a particular

package tour is called as :
(A) Direct Cost (B) Partial Cost
(C) Indirect Cost (D) Total Cost

If a travel agency wants to get approval from Ministry of Tourism, Govern-

ment of India, what is the minimum office space should be ?
(A) 250 sq. ft. for rest of India and 200 sq. ft. for hilly area
(B) 200 sq. ft. for rest of India and 150 sq. ft. for hilly area
(C) 100 sq. ft. for rest of India and 50 sq. ft. for hilly area

(D) 150 sq. ft. for rest of India and 100 sq. ft. for hilly area

For getting an approval of travel agency from ministry of Tourism, Govt of

India, what is the amount of minimum paid up capital is required ?
(A) 1.00 Lakh (B) 2.00 Lakh

(C) 3.00 Lakh (D) 4.00 Lakh

T.B.C. : 18/17/ET—II 18



25. O U TACAET ®UA A1 B HUA SO AT YW 7 S wfig Ft ¥, O
fFg YFER =1 THE T ?

A) Sfes (B) wrTEe U
(C) S=gwlg THIHL (D) HIEE TSI

26. T a9y Y SR & Wy 81 et o 3R ST ¥ UsErt S el @ s

E’ETGTR‘H%
(A) vy @rE (B) aifyrs @rma
(C) 9Ty Ard (D) HA AFE

27. IR T ABN U, THEH HAIGE, YRA TER | Hol o1 Wl §, 9 Han wtes
T F OB =R ?

(A) 250 sq. ft. 3 9Ra & faw iR 200 sq.ft. wWE & 5 fau
(B) 200 sq. ft. am.%ma % faw R 150 sq.ft. TEE somRi @ faw
(C) 100 sq. ft. 37 9T & faw 3R 50 sq.ft. el o & fou
(D) 150 sq. ft. 3 9RA & fa€ 3R 100 sq.ft. T@E o & fag
28. UUS WA URA WER | LT THE & qARA B faw, Ean wew Ot @ 22
(A) 1.00 @@ (B) 2.00 @@ |
(C) 3.00 @@ ' (D) 4.00 @

T.B.C. : 18/17/ET—II 19 ' L b6



29.  Match the following and select the correct answers from the codes given below :

Airlines Code

() KA
() AZ
(i) CA
(lv) GA
Codes :
@
(A) (a)
(B) (d)
(C) (o)
D) (o)

(73]
®)
(c)
()
(@)

(iii)
()
()
(@)
(d)

(tv)
(d)
(a)
(d)
®)

Name of Airlines
(@) Alitalia
(6) Garuda Indonesia

(¢) Dragonair
(d) Air China

30. Match the following and select the correct answer from the codes given

below :

(7) Product Line

(Zi) Product Mix

(iti) Branding

(iv) Programming

Codes :

@)
(A) @)
(B) (a)
(C) @)
(D) @)

T.B.C. : 18/17/ET—II

(i)
(c)
(b)
(b)
(c)

(£273)
(a)
(e)
()
(d)

(tv)
d)
(d)
(@)
(a)

(a)

(&)
(c)

(d)

20

Identifying and differentiating a product
by means of a name, symbol, logo, word
mark or other graphic

It is a collection of Related Products

It is the total numbers of products offered
by a firm

A technique, usually applied in the
context of packaging, that develops
special activities and/or events that add
value to a travels package and increase
customer spending.



29. f= =1 fgom i ok 49 Ru T e § ¥ wd 3w S .

(iv)
(d)
(a)
(d)
(b)

TITEAET &l W
(@) vUfderfasn (Alitalia)
(b) TESI EHRTA (Garuda Indonesia)
(¢) AR (Dragonair)
(d) T = (Air China)

50, fre = fem ST R T R s # @ wd e R .

TITETZT e
() KA
(@) AZ
(iii) CA
(iv) GA
HE :

@ @) ()
A) @ @ (o
B) @ @ &)
) @ b (@
M) () (@ (@)
(i) SR Y@

@) S’ fago
(i) wifsT

(iv) FEHFT FE
AT :

@ G G
(A &) (@ (o)
B) @ B (
C) @ b)) (o
M & @ @

T.B.C. : 18/17/ET—II

(iv)
(d)
(d)
(a)
(a)

(@)

b)
(c)

(d)

21

et =, et g, 1 fog o o= Tanfes
& WeEd ¥ fRd SO ® gesEAT Al
fadfeq =T

TE Wefyd SARI H UH GUE ©

ag Ag9d 99 g7 99 fRe T SaEl w5
A TqE T

T T AR W Ushfs & gesf § o
et & w1 e wfafaferd st/ sest =i
fowfaa & §, St amn Y § gog Sed
Tt ok wd d ofg wt ®



31.

32.

33.

Ebay.com has popularized :

(A)
(C)
Pull

(A)

(B)

(C)

(D)

concept of B2B e-Commerce (B) Concept of C2C e-Commerce
Concept of C2B e-Commerce (D) Concept of B2C e-Commerce
strategy is defined as :

The company directs its marketing activities at channel members to induce

them to order, carry, and promote the product.

The company directs its marketing activities at distributors to induce

them to order, carry, and promote the product.

The company directs its marketing activities at suppliers to induce them

to order, carry, and promote the product

The company directs its marketing activities towards final consumers

to induce them to buy the product.

Persuasive Advertising is :

(A)

(B)

(C)

(D)

Used as competition increases and the company’s objectives becomes

building selective demand.

Used to introduce a new product category or when the objective is build

primary demand.

Used for mature products, because it keeps the consumers thinking about

the product.

Used as a technique to retail loyal customers.

T.B.C. : 18/17/ET—II 22



31. Ebay.com ¥ =& f&ar 2

(A)
(B)
(C)

(D)

Si2el $-AMeg HT IFFYRN (concept of B2B e-Commerce)
Hi2E g-a1forsa 1 3@EURUT (Concept of C2C e-Commerce)
C2B 3-aifirsg &1 raumron (Concept of C2B e-Commerce)

Si2dl 3-afosg &1 FEURon (Concept of B2C e-Commerce)

32. ©ig wHEfa &% ®y § sfiwfea fear ™0 ¥

(A) FHUH 9 & TeE W e fague nfafafadl 5 AR o € 9t 3 e
T FARYT F, 3¢ o 91 AR TgET T 9

(B) =t faawsl W ot fauom nfafafad =) el =0 & ofs 3 s =
YT FH, 3% & 91 R wgEr © we

(C) =t emgfdemalell W 7ot fagqum wfafafed = v =it & afF 3 sar
F FARYT FE, 5% o 9 AR S@E € G

(D) =9t el Sudgaell | I fauvm wfafafadl =1 Fefke & @ 2, ofs
3 IR H T

33. U= fama ¥

(A) wioemsl 4 gfg & w9 § 3@ fea s ¥ o wot & s¥ww g g
T §

(B) T& T 3R AU I€ wW B fou a1 w9 wym wufaw 5w w1 fio fwam
G

(C) dUftys SRl & fou syam fen s &, Hifs 97 Sudeasd =1 3O’ &
IR H g0 & fau wEa ©

(D) EEU IFRER TEH & U ©F gwte & 9 H NG F S 8
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34. The dimension of Service Encounter Quality are :

(A)
(B)
(C)

(D)

Tangibles-Reliability-Responsiveness-Assurance-Empathy
Tangibles-Responsiveness-Assurance-Empathy
Intangibles-Tangibles-Assurance-Empathy

Intangibles-Tangibles-Assurance-Apathy

35. According to Cohen’s typology of tourists, those who usually plan their own

- trips and try to avoid developed tourist attractions as much as possible is

called.

(A)

(©)

The Organized Mass Tourist (B) The individual Mass Tourist

The Explorer (D) The Drifter

36. Full form of IUOTO is :

(A)

(B)

(C)

(D)

International Union of Official Travel Organization

Indian Union of Official Travel Organization

International Union of Official Tourism Organization

Indian Union of Official Tourism Organization
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34. Ta1 gSUT TUEH H TET ¥ :
(A) - TSR el - Sreara - SRl
(B) Ti-STeTerREl- AR -Heyfd
(C) STgi-Td-svara-weryfa
(D) - - rvers- Fgus

85. i w1 faferear & quifed, S AR W AT AL FA KA TN § AR

fowfan wew awew § S0 F FY F@ E, AW 9va @ w9, wEe €
(A) wifed S T4 (B) =Aff@ SM THew
(C) =St D) YRS
36. IUOTO 1 I0 ®Y ¥ :
(A) TeOvEE gfaEa e Sifefae 2ua sihiresyH
(B) 3fea Ifram i el dam sitfrgoRm
(C) TWre I ife sifelrae 2fon iffeseE

(D) e gfma siw sifefime i siiese
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37. Fill in the blank

The year 2016 withnessed a growth of..................... % in foreign tourist arrivals
in India.
(A) 9.5 (B) 12.2
(C) 75 (D) 10.7

38. The Government of India has extended “E-Visa facility” to nationals of countries
numbering :
(A) 150 (B) 75
(C) 161 (D) 153

39. Match the following and select the correct answer from the codes given
below :

(z) Stratified Random Sampling (¢) The entire population is arranged
in a particular order according to
a design.

(i) Systematic Sampling (b) The entire population is divided
into various clusters in such a way
that the elements within the clus-
ters are heterogeneous.

(iii) Cluster Sampling (¢) The sample is selected on the basis
of certain demographic character-
istics such as age, gender, occupa
tion ete.

(iv) Quota Sampling (d) The entire population is divided
into strata which are mutually ex-
clusive and collectively exhaustive

Codes :

@ @) @) ()
A) (@ @) @ @
B) @ @B @ (e
€ @ @ G @
D @ (@ G ©

T.B.C. : 18/17/ET—II 26



37. et T™E 9 :
T4 2016 H yRg H faovft whes smert #

38.

39.

m H
@ @)
- (A) @ ()
B) @ ®)
C) @ (@
D) @ ()
18/17/ET—II

TRB.C.-:

(A) 9.5
(C) 7.5

(A) 150
(C) 161

(B) 12.2
D) 10.7
IRG WHR 7 frad 2@ & Amfent @t o *t giaw wem # § 2

(B) 75

(D)

153

= w1 e #if ik 9= Ry 7w e 4 ¥ 9@ sw o= g wif .

@) g sfafim 79 % g9

(@) =HaAfEgd FHA H1 gAE

(i) e T FH g

(iv) 39 T[ & A

(€773)
(c)
(a)
(b)
(®)

(iv)
(d)
(e)
(d)
()
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(a)

)

()

(d)

9 srart F1 R foey ww § us
T & SER afed fem s g
T STETET 39 T | ST 3T g
# fowfsa =t st & fF ol & o
T fafay € -

TN B SRS fagwmei 39
39, o, sHeeE ok & omuR W
Sl ¥

T sAgen 9 § fawfaa & =
IR 9 | 774 iR grfes w9
q Hyl ®

PO



40. Match the following and select the correct answer from the codes given

below :

Type of Measurement

() Nominal

(i) Ordinal

(iii) Interval

(fv) Ratio

Codes :

@)
(A) (a)
B) @
(C) (@
D) (@)

(@)
(&)
(b)
(a)
(a)

€273
(c)
(@)
(®)
®)

(iv)
(d)
(e)
(@)

(e)

(a)

®)

(e)

(d)

Type of Descriptive Analysis
Frequency table, Proportion per-
centages, Mode

Median, Quartiles, Percentiles,

Rank order correlation

Arithmetic mean, Correlation

coefficient.

Index numbers, Geometric mean,

Harmonic mean.

41. Independent variables that are not related to the purpose of the study, but

may affect the dependent variables are termed as :

(A) Extraneous Variables

(C) Primary Variables

T.B.C. : 18/17/ET—II

28

(B) Intranceous Variables

(D) Secondary Variables



40. ﬁwaﬂ-ﬁaﬁﬁmaﬂzﬁ%ﬁqﬂqaﬁgﬁﬁvﬁwgﬁ*{:

I T YT
G A

(i) wHHATES

(ii) HEARR

() U«

.aa-s- :

@ @) G
A @ ) ©
B) @ O (2
©) @ @@ ®
D d @ G

(tv)

(d)

(c)

(@)

(©)

quirae fagemor @y
(@) i difess, e wiave, A
b) HeIw, wads, yaans, & w
HEHY
(c) STFTMORAA Hed, WeEauH Nh

(d) GaFiF &A1, SIiHdy qed, sUe®

HIET

41, TOA T N AT H Iy ¥ afda T € AfrT R W = gwfam w wed
€, ¥ %E W ¥ :

(A) & =R

(C) =38 =
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42. The studies which are concerned with describing the characteristics of a

particular individual or of a group is called as :
(A) Elaborative Research (B) Exploratory Research
(C) Descriptive Research (D) Diagnostic Research

43. Delegation of decision-making power down the chain of command is termed

as :
(A) Vertical Decentralization
(B) Horizontal Decentralization
(C) Horizontal Centralization
(D) Vertical Ceiptralization

44, The act of establishing a network of contacts both within and with outsiders

is considered as :
(A) Leader Role (B) Figurehead Role

(C) Liaison Role (D) Monitor Role
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42.

43.

& fafire =afw =1 e =t fodfivaedl =1 avit 0 & Wy Gefua s | W

S €
(A) famga v (B) @oi SrgEuH
(C) TUMHHE STTHYUH (D) "R STEIH

ﬁﬁa%uﬁﬁfﬂm—ﬁwaﬁmﬁmmaﬁwﬁaﬁ%-m%:
(A) Feair fah=ies

(B) a&fas fash=iam

(C) afas st

(D) S HEH

IEEAl R SR I & WS B TH ATe B wfud FW FH FE WA ST

T
(A) =@ yfgen | (B) sfishsl yfem
(C) Hush yfir | (D) et i
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45.

46.

47.

T.B.C. :

It is an ability to visualize the organization as a whole system and form an
image and develop vision in the context of the future environment. Such

managerial skills are called as :

(A) Conceptual Skills

(B) Analytical Skills

(C) Human Relations and Behavioral Skills
(D) Administrative Skills

A reduction in the existing line of business by dropping some profitable product

or service is termed as :

(A) External Growth Strategy

(B) Retrenchment Strategy

(C) Combination Strategy

(D) Diversification Strategy

The only viable goal of financial management is :

(A) Profit Maximization (B) Wealth Ma.ximization

(C) Sales Maximization (D) Assets Maximization
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45.

47.

IE T T YURH ® FY F WIST W HeUN FE AR Tw sfa e ek ufasy
% AR & Hed 7 gfe fowfad % &t amar €, 1 yeryET S F we W@

L
(A) o= e (B) faesiommens e
(C) Wra ToY R R BRI (D) WRMEETR SR

FF FEHE IOR A FA1 F DR ARl FUR K AT F wH FowE @@

T
(A) = fowm e (B) ©t ToHifq
(C) ¥& I (D) fafgean Torifa

- foxita vem =1 wEmEE Seed weg ¥ o

(A) HATH I=gaq 99 qF o S

(B) 99 afererarentor

(C) fo=wt sifberamssn

(D) wufw sifeerageso
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48.

49.

50.

Finance function involves :

(A) Procurement of finance only

(B) Expenditure of funds only

(C) Safe custody of funds only

(D) Procurement and effective utilization of funds

What is gross working capital ?

'(A) Total of Current Assets

(B) Total Fixed Assets-Cash
(C) Total Fixed Assets-Stock
(D) Total Fixed Assets-Current Assets

The estimated total requirements of the current asset should be financed from
long term sources. The short term sources of finance should be used only in

emergency situations. We are talking about which approach of financing mix.

(A) Hedging Approach (B) Trade Off Approach

(C) Margin Off Approach (D) Conservative Approach
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48,  faw = d wfie ¥ -

W w e wtr B) wam fifd = wd

(C) mlmaﬁmfa%afwm D) %ﬁﬁ@ﬁzaﬂ?uw@n
49. THA wrEviE St Fm F?

(A) IdHE Gufa F1 FHA

(B) @ Il Gufa-T#T

(C) =a FFa-gufa-wis

(D) Hd FFa gGufa-adeE Hufa

50. WS WUl Y SEHIE we AEvaEds ) et O 4 i fea s
mﬁmﬁa%mraﬁzmﬁmmwmvﬁﬁﬁmﬁmw

Tfeq | &0 fowdmm & fagw & forg cfewm & an § o =1 @ &2

(A) wfaeen gfearo (B) =mR @& gfteswm

(C) sfafea ufe s gfewm (D) wfgar! gfeswm
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